How to identify isolated electrons

1.Standard method < not work well

2.Check the minimum value of “IsolatedLepTagging”
(Output parameter by neural network)
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Only BG(full) plots

Isolated e # =2
Isolated e is same sign(e1xe2=1)
Eiso < 200 [GeV]

-0.95< c0s0is0e < 0.95
IsolatedLepTaggingmm IsolatedLepTagging _ (aftercut)
E 104 IsolatedLepTagging_min E ; IsolatedLepTagging min(aftercut)
Eﬁ Entries 102804 "E’ i Entries 54
210° Mean 0.9364 S | |Mean 0.7329
b [StdDev  0.1041 ‘, 'E |StdDev  0.1514 | m - 1]
10 - - ) - T
— BG_eexyyx i
10 — BG_eexyyx J
-1
10 =
1 :
_1 —
10 1072 = 4|
1072 - } [
TR [N W TN TN NN Y TN WO Y WO S TR N N S 1 —||1|l||||| A0 IRLR A
0 0.2 0.4 0 0.2

| 1 I .|. rameii
0.6 0 1 4 0. 0. 1
IsolatedﬁepTaggingmin IsolategLepTagg%gmm(aftercut)

IsolatedLep Taggingmin> 0.9




Isolated e # =2
Isolated e is same sign(ei1xez=1) =P
Eiso <200 [GeV]

-0.95< c0s0isoe < 0.95 :
150¢ o IsolatedLepTaggingmin> 0.9 )
W mass(old) W mass(New)
Bk — BG_eexyyx S0k
- —eexyy S E — BG_eexyyx
5 I S
< 10E < 10k
: — Mn=100 GeV(LR,RL) - — Mn=100 GeV(LR,RL)
1 |:r;";'F 1;—
; !r,r“ (L 1 = T
1: i g :LLI][F 1l | H
107 [ I ' 10
i il : |
g g S o B0 100 150 200 250 300
Jet-Jet mass [GeV] Jet-Jet mass [GeV]

RHN process 95




Isolated e # =2
Isolated e is same sign(ei1xez=1) =P
Eiso <200 [GeV]

-0.95< c0SBisoe < 0.95 i
50¢ _ - IsolatedLepTaggingmin>0.9
RHN mass(old) RHN mass(New)
=) 3 B
_E 102 ;_ — BG_eexyyx — Mn=100 GeV 5 102— BG_eexyyx — Mn=100 GeV
e F (LR,RL) EE (LR,RL)
S f >
10 = 10
i |
AR T ; gt
107 [l 107 T
- FFL -
107 = (LT L | L L[ 107 N
E_L-J—Lll-”L [ e |.|-M1 |]_|” J-I | ] - Ll 1 PRI | | Ll |
0 50 100 150 200 250 300 O 150 200 250 . 300

Jet-Jet-e mass [GeV] Jet-Jet-e mass [GeV]

RHN process 96




» Change signal samples
Fast simulation -> Full simulation

-> report on this at JPS2021(9/15)
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